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Rohit was 3 times as old as his son 6 years ago. After 1O years'

Rohit will be twice as old as his son. l[hat are their present ages?
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2.^ A comperty offers three types of successive discounts:
(i) 25Yo arr.d, L$o/o

(til 3O7" and 1O%

liiil 357" and 57o

Which olfer is the best for a customer?
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.l r3. i A fruit vendor sefls ] the number of oranges plus t he had to the

lr
I 
first custorrer, sells 5rd of the remaining orenges plus 1 to the

I second customer and he finds that 4 oranges are left with him.
i Find the numbers of oranges he originally had?t-
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4 In a certain to*n' ?rof the total populatlon is employed' Among

the unemployed population' the ratio of malea to'femafes is 5 : 7'

rf there are 5o,ooo tt"";;;t;;le in the towrr' how tnanv mdes

are unemPloYed?
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What are biofertilizers? Explain their uses in agrieulture' lNot more

What is Optical Flbre? Explain lts princlple and appllcatiors' lNot
more than 1OO wordsf
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Ethanol has widespread applications. Briefly discuss aay live in
the fields of industry and medicine. (Not more than lOO words)
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a Explain the cleanslng actlob of aoap end detergenta. IIow do they
deactlvate the COVID virus? {Not more than 1OO words}
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Explain the idea of.right to health, lnfered frorn the varlous
articles in Indian Constitutlon ln the context of Covld-19
Pandemic. (Not more than 1OO words)
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10. Identify the major electoral reforrns which are necessary in Indian

political system. (Not more tha[ 1OO words]
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.11. Dlscuss the role ofthe Governor' (Not more than 1oO words)
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Analyse the causes for low agricultural productlvity. lNot more
than IOO wordsl
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Explain the circumstance which led to the blrth oflndlan National
Congress in 1885. (Not more than 1OO words)
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What are the main features of pradhan Mantri Jan Arogya yojana
{PM-JAY)? (Not more than IOO wordsl

Explain the slgnilicance of Preamble of the Constitutlon' (Not 
I

more than 1OO wordsl 
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Explaln the sallent features of the Nofl-cooperation movement. 
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18 Elucldate the role of "sklll development programmes in the

promotionofeconomicgrowth''.(Notmorethan1oowords}
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Explain the Suez Canal crisis and its lmpact on global trade. (Not
more than 1OO wordsl
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features of 'Jalshakti Abhiyana'? (Not more 
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